(A) Z @6) Multiplizieren Sie Dezimalzahlen mit
s ® Zehnerpotenzen

Name: Datum: Ergebnis:
4, 063 x 100000 = 1,81 x 1000 =
2, 142 x 1000000 = 3, 146 x 1000000 =
1,201 x 100000 = 1, 835 x 1000000 =
5,961 x 1000 = 2,876 x 1000 =
10, 658 x 1000000 = 8,401 x 10 =
9,316 x 100 = 5,273 x 100000 =
5,888 x 100 = 8,62 x10=
2, 115 x 1000000 = 2, 348 x 1000000 =
8,988 x 1000 = 3,219 x 10000 =
7,549 x 100000 = 1,837 x 1000000 =
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Multiplizieren Sie Dezimalzahlen mit
Zehnerpotenzen

Name:

4,063 % 100000 = 406300

2,142 x 1000000 = 2142000

1,201 x 100000 = 120100

5,961 x 1000 = 5961

10, 658 x 1000000 = 10658000

9,316 x 100 =931.6

5, 888 x 100 = 588.8

2,115 x 1000000 = 2115000

8,988 x 1000 = 8988

7, 549 x 100000 = 754900

Datum: Ergebnis:

1,81 x 1000 = 1810

3, 146 x 1000000 = 3146000

1, 835 x 1000000 = 1835000

2,876 x 1000 = 2876

8,401 x 10 = 84.01

5,273 x 100000 = 527300

8,62 x 10 =86.2

2,348 x 1000000 = 2348000

3,219 x 10000 = 32190

1, 837 x 1000000 = 1837000
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